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 Metric System - Step-by-Step Lesson   

 

Jacky is picking flowers in his garden. He needs 1 
kg of flowers for decoration. He has 750 grams of 
flowers now. How much more does she need?  

Explain your answer. 

 

 

 

 

 

Explanation: 

We know: 

  1 kg = 1000 grams 

Jacky needs 1000 grams of flowers for decoration, but she has 750 grams.  

To calculate the remaining flowers:  

1000 gm – 750 gm = 250 gm 

So, the Jacky needs 250 grams of more flowers for decoration. 

 

 

 

 

 

 

 


